e s v

GRIZ

€P) loq 3 - z.lqu

Ju L}J 2010

a{oq/\s - z.loq/%

~Memo (P1)

(log 3 - 2.‘0q5)

z,(loq 3 - mioq5)

SECTION A

_Question |

(u)

ig - 30x

a?) oc,j- bx =

O(.. =

-ay * J@uy-yeyid

{
i

()

W

#
&+
¢y

-a4 F e

i

&

M

_12 t i W (5)

| Question B

-3 + 2,

o ona -3 ~uV=o

o (x- Y Y=o

o Hyprbols v O

b 5 y - —-\/\ T =V3 (ij

pd

) WX-;’/}\;@V cepl: 3 -in bﬁ'oqob:

I
O - S i

~ Quuestion




Question

o 0

/ 7
W (h +3)(h-a)

. {)ﬁ_ < i \/z .
X 7 ©
Chrzo\,@h 2) " e

‘ o 0 \/ N

h—=0 hn

n feo -

L~ (Ao +9

oo =

8 v ()

RS 'y

X X — 4 AL

(oh 128 -

o o r=a -'/
- 27 -1
& — (51 S 31{( )

il

i B}

= il = T
[3) = 4194 amf" (w)

s T e

Y | L B Ry
Y

vl

= ety
Y2 v

W W = \;\.&ac, v/ (6)
.__._.....3 L ,,:

7 Tasl

S — Qmm,fé(ajfl ,J; G N 4(;) S



_ | Q yestion b

_ANSWER  sHeer

Question 7

RN E

e

X m\;erce,pl;

ANSWER SHEET

- (a(, +\‘) + 14

-0 v
f&ueabfm q

- (X'rax #1) +4 =0

- o A -

me HFax -3 =0

;m \‘j l=,..— (-2 ("v 1)(9”"’) ********

i
(@)

(o # 3)(x ~1)

— (00 ~Ga +u)(x+3)

x=-3Vof  x=1v (u)

s . (- ~pa” +-u:r.+3x-l‘u*@

3
= ~-ac -I--‘L + %x ~13

()

v

/.hgg»/ Vg

b M value -

£,

=1 ©c= =12
%]

C)m ak_disbance = (-

*'Qx +3) VEJD ~4)

by 08 - i -r) = a¥E)
)

"990 +Ax 4+ D

& 1 ]
- R~ 4T, ") 43

iy

o  few o v

1y

..a(;(, - t)%_-l-‘fll +3

“3301.4- P {B =0

it §
s ~a(x-3) +33

L3 - - % =0

 Max length 3%

i
where o = A

‘..:H.'__,(,ac"" 2‘) (33(. +4 ) =

A

x - -'qfs v

é\oR

d(Distance) = 0\/

- () (%) "8(“15) 12___

o
th

o4 +2 =0

s

o= ho = -

o = @)

A= S0

Yy
7

d) xe (Tauey u (54Y W)

NONOITO T )

)



e)

E (o, -12)"

M

h

£ ( om)mv/

A -

- 3(oY + a(o) +8

y

(&-x)(& + )

=-SV/ or
——-———-—--‘w

dac \/_

>

4

o

SA = 2(3xxx) + 2 (32xh) + 2 (cxh)

by

= h\/(\b:x. + lac.)

&) |

Volume < Areq of bose xkoqht

©

= (3= (3% X%) « [33s

V3

40 4

3

67152 9o




A

Question 3 [13 marks]
Given: f(x) = SHE |
¥ — 3
a) What kind of graph does f represent? L\\\j\ PGY‘ bo}u’ / (1)
b) Write down the equations of the asymptotes of £, W =" v
./ \/
c) Determine the intercepts with the axes. X - iater cept: (j =0)
)f —inbeyeepy: (x=c) o = 55%—1-,, -1
- S
q = - 2, e ‘ .. . JC—"‘ 3 = 5
= —~a> v . x = 8 \// (2)
d) Sketch the graph of £, clearly showing all relevant features of this graph. (4)
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e) Give the new equations after the following transformations:
1) f (x} reflected about the y-axis = kv/ x__/
\(}) = >x+3 — |
Vv (2)+!
2) f (x) translated 3 units to the right and 2 units up A

S
y = - b ’}"l\/

S 4

(2)




Quaestion 6 [19 marks]

Let x be the number of articles of model A and y be the number of articles of model B which can be
manufactured daily by a factory, subject to the following constraints:

x =2 4
y = 6
x+ y = 12
5 + 4y < 80
Zy + x < 28
a) Represent all the constraints on the graph paper provided.
Clearly indicate the feasible region. (8)
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b) If it costs R300 to make each article of model A and R200 to make each article of model B,

write down an equation to represent the total cost, T, to manufacture x articles of model A

g

and y articles of model B. = 300 JLV/'!' 200 y v’

p—y

Mm = "

(2)




c)

Draw on the graph a straight line that you would use to minimize the total production
cost.

(2)
d)

Give the number of articles of each mode! that should be manufacture_d to ensure a minimum
cost, and determine the minimum cost.  ~

Model A - l.}ki(bfoles
T =

J
. Model B - & avbides
300(y) + A0 ()

R 2900 )\/

e)

(3)

i the manufacturing cost is adjusted and it now costs the same to manufacture models A and

B, but it is not desirable to make more of model A than of model B, determine how many of
each should be manufactured to ensure minimum expenditure.
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Ax + Ay . m = v
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Question 8 [10 marks]

Given: A: f(x) = 4*

a) Sketch A and A" on the same set of axes. Label all relevant points. (4)
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b) Determine a if fla) = 8. & = 4
&3~/=_ a'lcb\/
) = a0
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c) Explain how you can use coordinates and transformation rules to determine b
if £(8) = b?
i ‘\//
{ is  the vePledbin of £ in bhe
line 4 =0,  /
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